EARAROBEEIERT — 2 N— IBISH —F

201248158 (H) 1EE84H

R EEXl

RESF| 4tk

‘ [Riz] ¥ ‘ [REBE] — | Z (%) 2000M 4=

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S _ 5 4 3 | SHEA 2:02.6 3-3-4-3 |35.8| 83.3 | 7 428 | ABRER ()

1 7|1 V¥Z-7 54.0 (=) (+10) | EFFM
L:tr/0704 Be7RAR-EYY (B) HBEa-KL—-—ra>aEI77
= it 3 | Bt 2:02.7 6-6-3-3 |36.1| 82.3 | 4 430 | EBMREA (Ei)

2 12| 77V =Y 54.0 (1/2) (-10) | @) TU=>T7—L
L:gA—I>Tlh B:X=T71hH—h HET7—L

=B 7= 4 3 | BOAIEM 2:02.8 2-2-2-1 | 36.4 | 80.1 1 480 | FREERL (@)

3|7 /13| ANTERT 1 — 54.0 (1/2) (g |MEBET

84T ATv— B:NOxyt LA Eae]
= o= H gk : -10-9- EKEBEN (BR)

al1] o ZH1 FAS— 4 3 = 2(/(\3? 10-10-9-9 | 35.4 | 81.3 | 3 (333) sl
LT =TANT N BXHAT AT LR EBRTF— L

on = : B3 | Lelg— 2:02.8 9-8-7-6 |35.8| 81.3 | 5 434 | AREELT (FH)

5|5(10| 7ANZI—I b 5.0 (NF) g | ) GIL_Syy
RZFAT—IE BTG T BT — L

NILJS S s 3 | FRER 2:02.9 4-4-4-3 [ 36.2 | 80.3 | 2 420 | ERIFIA (i)

sl 11| FAENILANT 54.0 (5 6) o) | B EvTLyKTr—n
R:A-—TXf x4 B:x2NNT EvJiLy RT77—L4L
K 3 43 | HAELF 2:03.5 8-8-8-7 |36.4| 74.4 | 11 400 | AHER— (ER)

7 g| ¥ vhLB—7 54.0 (31/2) (4 | B FroOybrT7—L
RiFA—TANT N B AT—XET h Rt

S # 3 | ENEE 2:03.6 11-11-11-11| 35.8 | 73.4 | 8 450 | HHEBL (ER)
8|59 | AT —bAF 54.0 (1/2) (6 |HBREHIILY
R:FA—TANT b B:RT Yy hFFA K J—HrTr—L
; . i3 | BIBEA 2:03.7 6-6-9-10 |36.3| 72.4 | 10 | 416 |MEHHIL (EiH)
91[1|F-b—b=> 54.0 (3/4) Cia) | TR
LT RRAYL—2 Biby—Ty7r29— H—L—-Jv/X> - T7—LARS
- = 7 3 | ABEFN 2:04.0 12-12-12-11{ 36.1 | 69.4 | 12 | 470 |$HAEE (E®)
10/8/16| =1~ AT V7 5.0 (1 3/4) o) |&E—
L:T7RIfYL—> BT hAITTY RS
TN TEHE : -1-1- HehiER (EH)
MIZALU v LR i 3 he 2.(0:).7 1-1-1-2 | 38.3| 63.5 | 15 (432) i
R:TVv IRy b By XNV DIXRBZLTp—L
S, O T 4 3 | HE—H 2:04.8 16-16-16-14| 36.1 | 61.5 | 14 | 464 |ZRBERE (=iH)
N 54.0 o) Oy | @ mess
RA—YXA x4 B:A 15154 % I -

. . AT :05. —-15-14- . . RILER (EiH)
JITA>T—K 4 3 o T (23015/24) 15-15-14-14| 37.0 | 56.6 | 13 (432) ém/w
RRYILN—F B4 7—KwyIT *7— Fip

. AT i 3 | EIIEH 2:05.4 13-14-14-14| 37.0 | 56.6 | 6 490 | HumzEiE (ER)
RNy AT 54.0 (7E) () |HERE
R:w>NyB&LhT1 BNCT 15 TEEHS
5 S 4 3 | HILFE 2:05.6 13-13-12-13| 37.6 | 54.6 | 16 480 | AKER (EH)
20/727 A51.0 (1 1/4) (-4) gﬁ%ﬁ&)\
:vQ7% B:XA4A—-bT—4 BEERS
- o ARIBHIIA : -4-4- WMKEX (ER)
NLZTY i 3 Al 2.88.3 4-4-4-7 | 39.5| 51.3 | 9 (4_523) éaaﬁ%
AR w1 =9 B:JLARILAIR Esrvae]
@ 71 L
) 48.1-36.2
NA> 24 L | 12.4-11.4-12.1-12.8-13.0-12.8-11.9-11.7-12.0-12.5
® I —F—@EBIERL

12—74— |6,13,7(11,14) (1,12)8,10,2,9,16(4,5)15-3

2= = 6,13,7(11,14) (1,12) (8,10)-2,9,16,4,5-15-3

Gol=5r= (x6,13)12(7,11,14)10,8(1,2)-9(4,16)-(5,15)3

40—+— (6,%13) (7,11,12)-10(8,14)2,1-(16,9)-4-(5,15,3)

[ N3

B O 7 3,110 714K 7-12 2,620 e E 4-6 4,330M JEHE 7-12-13 3,050/

8 B 7 500M 7-13 550M B = 7-12 10,510 B 7-12-13 61,900

12 230 12-13 260 | | & & 7-12 25,870

13 110

ABICOVWTRDTEEERROODE. TR LIV,




